NOTE: . THE STRUCTURE TO BE USED WITH A MAXIMUM INSULATOR SWING ANGLE OF 66.7° FROM THE VERTICAL.

2. THE STRUCTURE SHALL BE ERECTED SO THAT THE POLES ARE VERTICAL. THE TOPS OF POLES ARE LEVEL
AND THE CROSSARM [S HORIZONTAL.

3. THE FOLLOWING INFORMATION IS OBTAINED FROM THE LINE SCHEDULE:
a) POLE LENGTH AND TYPE.
b) SPECIAL FOUNDATION REQUIREMENTS.
c) VARIATIONS TO STANDARD POLE DEPTH 'D’.
d) CONDUCTOR AND GOVERHEAD EARTH WIRE.
e) STAY REQUIREMENTS.
f) DEVIATION ANGLE.
g) ASSESSED EARTHING REQUIREMENTS.

@@ 4, DIMENSION ‘U’ HAS BEEN CALCULATED WITH THE INSULATOR STRING HANGING VERTICAL AND USING
Ve 10 INSULATORS FOR ITEM 13. THE MINIMUM GROUND CLEARANCE [S TQ BE 7500mm.
l
; 5. THE MAXIMUM ANGLE OF INSULATOR SWING FOR 10 DISCS IS 66.7° FROM THE VERTICAL. FOR 11 DISCS
: THE SWING IS TO BE 68.7° AND FOR 12 DISCS THE MAXIMUM ANGLE [S TO BE 70.3°.
° I Y4
POLE D
STANDARD Y
! I m m m
. : ! 14.0 2.00 9.25
| i ! 15.5 2.15 10.60
! | : 17.0 2.30 11.95
! i l 18.5 2.45 13.30
; i l 20.0 2.60 14.65
i i ' 21.5 2.75 16.00
i i , 23.0 2.90 17.35
i | | 24.0 3.00 18.25
i ! | S
i SEE NOTES ~_| | |
i 1 AND 5 , , 21 |SCREW, SET  M12x25mm A3-14053 | 40549 1
i | o | 20 |LUG COMPRESSION  14mm HOLE TO SUIT MERCURY CONDUCTOR A3-14053 | 10257 1
i g i SN 19 | WASHER., SPRING M12  STAINLESS STEEL A3-18082 | 39134 2
i 4/ ! 4800 4800 | /L__. 18 |WASHER, FLAT  M12  STAINLESS STEEL A3-18081 | 39087 2
- o - < o & 17 | OFFSET EARTHING CLIP 14mm HOLE A3-7734 11685 1
= | 4800 /’/ = 4800 /L Jc = 16 |BOLT AND NUT M12 x 40 mm HEX. GALV. A3-15466 | 37433 1
= g ! L] | 15 | OVERHEAD EARTHWIRE SUSPENSION ARRANGEMENT (FOR CONCRETE POLE) A2-12449 2
5 < = < < 14 | CONDUCTOR 7/4.50 MERCURY A.A.C. 13433 T
) i® Gi = ) 13 |OVERHEAD LINE SUSPENSION STRING ARRANGEMENT-2 A2-14043 3
T (e}
= : i i - : 12 | WASHER SPRING M20 GALV. A2-18082 | 12526 10
i ; | : 11 |BOLT AND NUT M20 x 50 mm HEX. GALV. A3-15467 | 11407 10
i | G.L. i l 10 |DROPPER PLATE A3-8727 | 10590 1
I\ 4 - ! Y ! ; A\ 4 ; ] HA\4 W, , A\4 9 | CLEARANCE HANGER LINK - OFF-SET A3-7755 | 10574 2
! ! ! ! ! ! ' | | 8 | CLEARANCE HANGER BRACKET - SET A3-7756 | 10582 2
: : { l } } | : 7 |WASHER FLAT M24 GALV. A3-18081 | 12178 3
-~ 1 3 3 g 1
= | ; . \ | : : | ; : | ! 6 |BOLT AND NUT M24  GALV. HEX. (70 SUIT POLE) A3-15465 3
t ¢ ] 1 U [l
! < ] : < — ! : < ] | < ] . CROSSARM - GALV. 180 x 75mm CHANNEL (RCP-BB-L) A3-7745 9915 1
: ’\@ : : r\@ : ! = ! R4 ! CROSSARM — GALV. 250 x 90mm CHANNEL (RCP-BB-H) A3-7745 1
! : : : % : : ! ; : ‘ : 4 |NUMBER PLATE 3
: ! : : ! : : | : : | : 3 | CONCRETE POLE FOOTING ARRANGEMENT A3-12331 3
bommmd oo bemmmdm bmmmmd e boemed e 2 |HIGH VOLTAGE CON. MULTIPLE POLE STRUCTURE BUTT PLATE EARTHING ARR.|A2-20210 2
-' = 1 |POLE CONCRETE TYPE RCP 8B WAHMZ 3
-
DG NOT SCALE DIMENSIONS ARE IN MILLIMETRES UNLESS STATED OTHERWISE. ITEM DESCRIPTIO DRG.No. SCT&% QTY.
o 8lal 8,4 22 |3 S.ems |4 | 2 o= 132 kV TRANSMISSION + 9 0 i
SYelsbod| 52 ~|5 Be2E || 2 3| 2% s oare: 9 4- 571 EpergyAustralia
i 1] B I3 SR80 288~ 5858253 DRAWN:  P.S.
THEOREE =)o e STRUCTURE ASSEMBLY |,
x iz =S — =L az | t F T=ET gs TS POWER SERVICES
AUTH'D
o i¥l = v J=B = wiEE=al | e, e == e ENGINEERING CONSULTING - HUNTER
gl 22 —w |CTgEEET S| |2TES| || By RC P — BB AMENDMENT E o A~ ~lAA
Q2 e e o et T t i - o i B B s =t B
Sel3| =82 27 |EEiolErolEEsiiEsss o SRRITRG RUTHORTSED o3 13657 A7
<282 232 5 EE32EE o 15w |ecos ASSOCIATED DRAWINGS A TET 3159 R.BREMMELL SHEET 1 OF 1
[ Mpi = ~— O - M - — - B
1 [ 2 [ 3 [ ] | 5 I 3 | 7 [ B




